Practice test –Chapter 3
1)  Which of the following numbers are divisible by both 4 and 6?
24		48    		542   		1032

2)   Use short division:    46,342 ÷ 5 

3)  Find the quotient :  516 ÷18 

4) Use compatible numbers  

63,529 ÷ 83

35,493 ÷ 5 

5) Divide:   7042 ÷ 6

6)  Choose the quotient

48 ÷  6 =
480 ÷ 60 =
4800 ÷ 600 =
48,000 ÷  6000 =

7)  Solve:  15,030  ÷ 5 =


8)  Solve for n.

48,000 ÷ n  =  600

5600÷70 = n

[bookmark: _GoBack]n ÷500 = 35,000

Use 4WA to solve the word problems.
9)  Mrs. Martin had 5,536 books.  She donated equally to 8 schools.  How many books does she have left?

10)  A total of 61,832 people attended 4 games.  The same number of people attended each game.  How many people attended each game?
